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X - 0x- 18

© — 4 +10x— 21

L+

Ox> — 53x% — 232x— 180

21 — 115x% + 188x — 96

1.

X + 3% +9x+ 14

X+ 30— Tx+ 15

X0+ 557 +3x+ 54

45x° = 27457 = 36x+ 360

40x° — 67x% — 62x + 72
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X =4 —9x— 18
(x— 6)(x* + 2x + 3)

X — 4 + 10x— 21
(x—3)2—x+7)

X+ T+ 64
(x+ 8)(x> —x+ 8)

9% — 53x% — 232x — 180
(Ox+ 10)(x— 9)(x + 2)

21x° — 115x% + 188x — 96
(7Tx—8)(x—3)(3x—4)
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o
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X +3x% +9x+ 14
(x+2)02 +x+7)

X 43— Tx+ 15
(x+ 5)(0% — 2x + 3)

X+ 5%+ 3x+ 54
(x+ 6)(> —x+9)

45x> — 274x% — 36x + 360
(5x — 6)(x — 6)(9x + 10)

40x° — 67x° — 62x+ 72
(5x — 4)(x — 2)(8x + 9)

www.snowmath.com



https://www.snowmath.com

